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1. The strange old man and was never seen again.

(A) weaved {B) expected (C) suited (D) vanished
2. Thestudents had to pay a when returning books late.

(A) item (B) fee {C) credit (D) spice
3. The train could not hold any more .

{A) passengers (B) musicals (C) slaves (D) treasures
4. The.alarm system someone breaking in.

(A) advised (B) avoided (C) detected (D) stated
5. Judy asked her teacher to the problem to her again.

(A) Admit (B) admire (C) complete (D) explain
6. Olive’s little brother the last cookie and ran away.

(A) maintained (B) grabbed {C) wandered (D) spread
7. Owen got before the test.

(A) slim (B) eager {C) nervous (D) usual
8. Don't spoil your by eating between meals.

(A) principle (B) prize (C) comfort (D) appetite
9. Have you thought about having your hair in a shorter ?

(A) style (B} melody (C) platform {D} rush
10. Don't say mean things to Kim; she’s very .

(A) social ' (B) sensitive {C) original (D) national
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Water played an important role in the everyday lives of people in Lijiang. They cherished it ___11___a gift from heaven,
trying to make the best use of it ___12___they could live in harmony with nature. Take __ 13 _well forexample. It ___ 14

three linked pool, and each pool was at a different level and had a different purpose. In this way, the water was used again and
again, and would not ___15__ :

11. (A) for (B) with (C}in (D) as

12. (A) in order to (B) so (C) so that (D) for the purpose of
13. (A) three-eyes (B) three-eye (C) three-eyed (D) three —eyeing

14. (A) was made up of (B} was consisted of (C)vwas made of (D) was made from
15. (A) waste (B) wasted (C) be wasted (D) was wasted
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For 90% of the people in the world, it is natural to live their lives mainly ___16___ the right hand. However, there are some
people who would rather reach out to the world with their left hand. These left-handers have a hardtime ___ 17 from left to
right and also look ___18__ when they use scissors. But__ 19 being abnormal, these left-handed people are actually normal

and healthy. Some of them are even outstanding. For exampie, da Vinci and Napoleon were both left-handers and ___20___ isthe
popular singer Wang Leehom.

16. (A) use (B} using (C) to use (D) used

17. (A) writes (B) to write (C) write (D) writing
18. (A) like clumsiness (B) like clumsy - (C) clumsiness (D) clumsy
19. (A) instead of (B) as for (C) instead ‘ (D) besides
20. (A) too %  (B)either (C)so (D) neither
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Spiders aren’t the most deadly animals found in Austrailian backyards. The country is also home to more than 100 species of
fand snakes. ___ 21 ofthem can kill a human in a matter of minutes. The most feared is the eastern brown snake. They can
exceed two meters in length and move ___22___asurprising'speed. Without medical ___23__, their bite can result in death.
From the ocean to the countryside, deathisjusta __24__, sting, or bite away in Austrailia. This has earned the country the

title of deadliest place on earth. 1t’s only when you get such a close view 25__  yourealize how dangerous some animals—and—
places—can be.

21. (A) one-three (B} one-third (C) third-one (D) three-one
22. (A) for (B} with (C) at (D}in

23. (A) condition (B) emergency (C) development (D) treatment
24, (A) strike (B) trunk {C) cycle (D) victim

25. (A) that {B) who (C) which (D)X
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Why are there seven days in a week, and not six or eight?  Opinions differ as to the right answer, but the most ___ 26

accepted answer brings us to the Babylonians. This ancient civilization organized time ___27___ lunar cycles. Each phase of the
moon ___ 28__ around seven days, so this number was chosen to mark a week.

There are also different opinions about where the week begins and ends. According ___29___the first day of the week and
Sunday is the last. In Canada and the United States, ___30___, Sunday starts the week and Saturday ends it.

Like the first day of the week, the weekend changes ___31___ one’s location as well as beliefs. Sunday is the day of rest in most
Western and Christian parts of the world, __ 32___ Friday is known as the day of prayer for Muslims. The Jewish calendar marks
Saturday ___33___ the day of rest.

Our modern seven-day week came into ___34___ from ancient science and religion. With this knowledge, we can ___ 35

each day in a different light.
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With two Most Valuable Player awards and an NBA Championship, Stephen Curry is undoubtedly an NBA superstar. However,
his rise to greatness was thought by many to be along shot.  Curry came from an athletic family, but grew up short and skinny.  In fact,
he was usuaily one of the smallest players on his school teams. He worked hard and played well but was not recruited by any major
universities. Though he managed to lead his small college team to the NCAA tournament’s Elite Eight, many still wondered if Curry
would make it in the NBA.  Curry was drafted by the Golden State Warriors in 20089, starting his NBA journey. He suffered from several
injuries along the way, but continued to work on his shooting. Thanks to his continuous effort, he has become one of the best players
in the game.

(10-p. 10-13)

36. What is said about Stephen Curry when he grew up?

(A} He was surrounded by good teachers.

{B) His family moved around very often.

(C) He was never the strongest or biggest.

(D) His family didn’t encourage him to play sports.
37. What do we know about Curry’s college career?

(A) He played for a less famous school. (B) He played baseball instead of basketball.

(C) He developed wellin a majog school. (D) He set many records during the period.
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The reason why you smile is a clue to which country you're from. Smiling may mean friendliness to you, but it can produce
negative reactions in certain nations. People who live in countries with unstable social systems see casual and frequent smiling as a
sign of foolishness.  Such countries include Russia, India, and Iran.  These citizens lack confidence in their own country’s health-care,
court, and other systems. To them, only a fool would smile all the time when their future is so uncertain. In contrast, in countries like
Germany and Switzerland, where there is greater confidence in the future, smiling is considered a sign of intelligence. Besides

foolishness, smiling can also signal dishonesty. Where there are high levels of government corruption, people who smile often are seen

as untrustworthy.

(10-p. 28-31)
38. What is the main idea of the passage?
(A) How smiling benefits our health. (B) Smiling always help make friends.
(C) Different ways to show friendliness. (D) Smiling can have various meanings.

39. Based on the passage, what do India and Iran have in common?
(A) Their people are not so sure about their future.
(B) Their people highly trust their government.
(C) Their people are quite happy with their lives.
(D} Their people are kind and friendly to strangers.
40. In a corrupt society, what might people think of a person who smiles often?

(A) He/she is friendly to people. (B) He/she is sure of themselves.
(C) He/she may cheat on others. (D) He/she must be a fool.
EAF A RRELE

In 2007, Atlanta came within 90 days of running out of water. Last year Sao Paolo, the world's ninth largest city, was three
months away from running out. This past January, Flint, Michigan declared a state of emergency in response to its water crisis, and
the current drought in California is the worst in 1,200 years.

Most Americans assume that water scarcity is a problem limited to developing countries; that our water is cheap, clean, and in
plentiful supply. Yet this essential resource — used lavishly and delivered virtually for free —is increasingly scarce. Experts now
know that the most severe shortages have been caused not by weather or consumer choices alone, but by poor policy planning. If
we engineered our way into this crisis, can new solutions engineer us back out?

The suggestions are vast: recycling incentives; citywide mandates on lawn watering; and towing and melting icebergs. But at the
center of a recent ProPublica investigation by Abrahm Lustgarten is another solution: water markets. According to Lustgarten's
reporting, which serves as the basis for the Discovery documentary, Killing the Colorado, a growing consensus of experts argue that if
water is valued properly, then bought, sold, and leased, waste would be discouraged and water supply would more effectively shift to
where it's needed most. Skeptics aren't so convinced — they say privatizing what is widely understood as a public good is
shortsighted and detrimental to its access.

Join New America, ProPublica, and Discovery for a discussion on the market-based solutions for our water problems and what's at

stake for a secure water supply, economy, and environment.

(Selected from https://www.newamerica.org/nyc/events/liquid-assets-can-wall-street-save-water-crisis/ )

41. According to the passage, which is the possible solution to the water problem that the writer tries to promote?

(A) making use of icebergs (B) water markets
(C) thecitywide lawn watering (D) recycling water
42. According to the passage, what does the word “crisis” mean?-
(A) atime of celebration . (B) atime of reponse
(C) atime of confusion £ (D) atime of danger
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Hope is the thing with feathers

Hope is the thing with feathers
That perches in the soul,
And sings the tune without the words,

And never stops at all,

And sweetest in the gale is heard;
And sore must be the storm
That could abash the little bird

That kept so many warm.

I've heard it in the chillest land,
And on the strangest sea;
Yet, never, in extremity,

It asked a crumb of me.

43. According to the first 2 stanzas (55§(7), when does Hope sing the sweetest?
(A) when there is a bird (B) when life is difficult

(C) when there is hope (D} when life is over

44. What does the poet compare “hope” to?

(A) the land (B) the storm

(C) the bird : (D) the feather
45, Which is the appropriate rhyme pattern for the 2™ stanza?

(A) ABCB (B) ABCD

(C) ABAC (D) ABAB

V. XEFHR (10%)
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. Please send me more information at your ¢ e.

2. Tedisa d with machines. He doesn’t even know how to use a cell phone.

3. There are fewer and fewer natural r es left, so we must make the most of them.

4. The arrow on the sign i es the way to the station.

5. Vegetables are in short s y after these rainy days

6.. People who come out of the train station go in all d ns.

7. My grandfather died of a heartd e.

8. Cathy always gives me lots of e t when | feel sad.

9. We sat by the window and enjoyed the b y of the mountains.

10. Onac y night, the boy built a fire to warm himself.
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BRI RERE - B EBEBNH -

Mary is not a cat person. She (1) dogs (2) cats.
AR RRHE - TRREGEEIHM ASE .

Don’t drive when you feel sleepy, or you’ll (3) (4) people or cars.

BERRIGENTEAE -

I like to (5) (6) with some harmonious music playing
e RE BT RE I E YRR -

Visitors from every place watch the art works in the museum (7) (8)
HIOREREHLFER  RAKTERTBEEM -

Salt and sugar are our (9) (10) ; we need them almost every day.
BREEEREMINNEERNE -

Eating too much is an important cause of (11) (12) weight

BEARDE  BEERMNEETFHEEENHE - (4%)

BT ISR - ARIRBES] - (4%)
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